EFT  V: The Prince of Aquitaine whose Tournament is Destroyed

Round 06

TOSSUPS

1.  According to legend, this city was founded by Libuse and her husband Premysl, the namesake of its first dynasty. The Battle of White Mountain took place near this city. On July 9th 1357 at 5:31 AM, Holy Roman Emperor Charles IV laid the foundation for a namesake bridge in this city. Vysehrad Castle was an early structure in this city, while another one saw priest Jan Zelivsky throw city councilors out its windows in the first of its two defenestrations. Alexander Dubcek tried to lead a liberalization of this city in the spring of 1968, which became named for it. For 10 points, name this capital of the Czech Republic.

ANSWER: Prague [or Praha]

2.  One of this author's speakers says “I sought for ghosts, and sped through many a listening chamber, cave and ruin.” That poem begins with the coming of “the awful shadow of some unseen power.” Another poem by this author has an image of “one keen pyramid with wedge sublime” and describes the titular figure's soul, which like a star “beacons from the abode where the Eternal are.” Another of his poems contains an image of a “hand that mocked them and the heart that fed,” but now very little remains “of the colossal wreck,” and the “low and level sands stretch far away.” For 10 points, name this English poet of “Adonais” who wrote “Look upon my works ye might and despair” in his “Ozymandias.”

ANSWER: Percy Bysshe Shelley
3.  Unlike in more classical models, this law is not violated by the Debye model’s predictions of the specific heat of a solid. Similarly, an ideal gas will violate this law for a constant specific heat as temperature changes. This law arose from observations that the change in enthalpy approaches the change in the Gibbs free energy for isothermal processes at low temperatures. Due to possibility of many zero-point energy states in a material, the predicted minimal value of entropy by this law may not be zero. For 10 points, identify this law that states that the entropy of a system is minimized as temperature approaches absolute zero.
Answer: Third Law of Thermodynamics
4.  An American film company bought the rights to turn this piece into a movie from its composer before they realized it was not an opera. The clarinets are the second melodic group to be heard in this work, shortly following the flutes. Its genesis lies in the fact that Fernandez Arbos was already commissioned to compose music for Iberia. Ida Rubenstein commissioned it and danced in the ballet performance two years before the concert version was performed. The main melody is introduced following the start of an ostinato 3/4 rhythm on the snare drum. For 10 points, identify this composition based off a Spanish dance, written by Maurice Ravel.
ANSWER: Bolero
5. This man argued that the sciences progressed from mathematics to a state where all social facts would reduce to laws, and Harriet Martineau translated many of his works into English. One of his works examines the “System of” a certain type of Polity and emphasizes morality as the central focus of human knowledge and effort. This man claimed that human thought moved through three stages beginning with the theological. He published a “Course” on a philosophical position which states that the only true knowledge is scientific knowledge. For 10 points, name this Frenchman who coined the term “sociology” and founded positivism.
ANSWER: Auguste Comte
6.  Some people eat a fungus that infests this lifeform called huitlacoche as a delicacy in itself. According to a Sauk legend, a beautiful woman gave this plant to the Sauk Indians after being presented with a piece of roasted venison. The Fischer-Tropsch process can be used in an attempt to make diesel out of biogas made from this plant, which is the most widely used source of biogas in Germany. Originally developed by selective breeding of the teosinte plant in Mexico, this crop spread from Mexico to Europe during the Colombian exchange. For 10 points, name this crop most productively grown in the United States in Illinois and Iowa, which can be used to produce ethanol.

ANSWER: corn or maize
7.  His interest in castles can be seen in his depiction of Dartmouth Castle on the River Dart, as well as his six paintings of Nordham Castle on the River Tweed. One of this painter's works is compared to Macbeth in a chapter titled "Of Water, as painted by" him in Modern Painters.  Another work by this painter shows a pier on the right hand side while on the left a steamboat tows the titular vessel to its last berth. Another work by this painter depicts a two people in a boat and an arched bridge on the left, wherein a locomotive comes from the right. For 10 points, identify this British painter of The Fighting Temeraire and Rain, Steam and Speed.
ANSWER: Joseph Mallord William Turner
8.  The transformation of calcite into quicklime gives off this molecule. The symmetric and antisymmetric stretching modes of this molecule show up at 1480 and 2565 wavenumbers, respectively. This molecule, which belongs to the D sub infinity h symmetry group, is used as a solvent in decaffeination reactions. The Keeling Curve gives the concentration of this molecule in the atmosphere. Removing this molecule from histidine gives histamine, and adding it to a solution of Grignard reagents is a common carboxylation method. It’s a linear molecule with two double bonds, and it is the primary cause of global warming. For 10 points, name this gaseous molecule which is present in soft drinks and which humans exchange for oxygen.
ANSWER: Carbon Dioxide or CO2
9. The architecture of this polity included the Processional Way which was decorated with enameled lions, as well as the great temple Escagila. A raid from its western neighbors left it in the hands of the Kassites, and part of it was destroyed by Sennacherib but later rebuilt by his son Essarhadon. One of its rulers destroyed the first temple of Jerusalem while another promulgated a harsh legal code with rules like “an eye for an eye.” For 10 points, name this city-state in present-day Iraq which was ruled by Hamurabbi and Nebuchadnezzar II and was home to some hanging gardens.

ANSWER: Babylonia

10.  While in Waldheim, the protagonist of this work meets what he calls a “rustic lad” who pines for the love of the widow he is working for. Its protagonist wanders around in the winter weather meeting Heinrich, who is gathering wildflowers to make his lover a nosegay. This work’s author and the inspiration for the female lead appear in the novel The Beloved Returns.  It begins with the title character discussing his lover for Leonora and leaving his friend Wilhelm. Its protagonist uses a pair of pistols to shoot himself after requesting them from Albert, who is married to his love Lotte. For 10 points, identify this novel by Johann Goethe about a melancholic young man.
ANSWER: The Sorrows of Young Werther or Die Leiden des jungen Werthers
11.  This composer shares his last name with that of the one who composed The Mathematics of Resonant Bodies. One of his short piano pieces was written for Gary Ohlssohn after they worked together on the Copeland Piano Concerto. Another work by this man originated as a piece called Wavemaker and has a second movement titled Hymning Slews. In addition to American Berserk, one of his choral works uses the word "Missing..." and the phrase "I see water and buildings” as well as missing person posters to commemorate the victims of a terrorist attack in 2001. Another of his compositions features a foxtrot that was adapted into the "Chairman Dances." For 10 points, identify this composer of Dr. Atomic and Nixon in China.
ANSWER: John Adams
12.  One method to detect these phenomena is a 68 centimeter sphere cooled to 20 millikelvin, while another one designed by Thorne, Drever, and Weiss consists of an L-shaped Michelson interferometer with Fabry-Perot cavities. Besides the miniGRAIL experiment, another apparatus used to detect them is a series of aluminum cylinders isolated from outside vibrations, named for Joseph Weber. The orbital decay of the Hulse-Taylor binary system is predicted to be due to these phenomena radiating energy away from the system, and they are radiated by accelerating, non-spherically or cylindrically symmetric system. The LIGO experiment attempts to detect, for 10 points, these phenomena predicted by general relativity.
ANSWER: Gravitational Waves
13.  Its first agon is between Superior and Inferior. At one point in this work, students study geology with their eyes and astronomy with their asses. One character in this work does his thinking in a hanging basket, and makes another character lay in a bed of lice while thinking about the gender of nouns. Eventually, however, that character is not deemed smart enough, and so he convinces Pheidippides to learn the arguments of Right and Wrong.  This leads to his father defeating his creditors in court, but the play ends with the two getting into an argument and its protagonist burning the Thinkery to the ground.  For 10 points, name this play which features Socrates and Strepsiadies, and was written by Aristophanes.

ANSWER: The Clouds
14.  One of this thinker’s works contains a discussion of a society that converts to Christianity once its member’s see a pillar of light a mile tall in the middle of the ocean from the city of Renfusa. He wrote a work whose cover depicts a ship passing through the Pillars of Hercules, which illustrates his belief that humanity can be easily deceived by “stage-plays” from various dogmas and philosophies from the “theatre.” In addition to proposing that idola fori is one of four ways to confound humanity from truth, he wrote a novel depicting Bensamites, The New Atlantis. For 10 points, identify this man who pioneered the scientific method and wrote Novum Organum.
ANSWER: Francis Bacon
15. In whole transcriptome shotgun sequencing data, the TopHat algorithm can be used to find instances of this process. Removal of one site for this process is responsible for diminished production of functional SMA protein in spinal muscular atrophy, and some mutations can activate cryptic sites for this process. This process consists of a series of two transesterifications, and relies on binding of the U1 through U6 components of a certain complex to the branch point and polypyrimidine tract. Those small nuclear riboproteins are responsible for the formation of a lariat intermediate, which is then removed. This process allows more than one protein to be coded for by a single gene. For 10 points, name this process of removing introns from an immature mRNA transcript.
ANSWER: Splicing
16.  One leader of this faith was so kind-hearted he dug six Persian wells for some peasants to irrigate their fields. Its founder, born in the 15th century, heavily emphasized the concept of Nam Japo and Kirat Karo, the former of which is the chanting of waheguru. Its main religious text was written in the Gumurkhi script and was appointed to be its eleventh leader. Adherents of this religion are bound to wear the five Ks, including Kes, or uncut hair, Kaccha, or undergarment, and Kirpan, or dagger. All female adherents to it carry the name Kaur, and it is split into two main groups, the Digimbara and the Svetembara. For 10 points, identify this religion of India whose leaders were gurus.
ANSWER: Sikhism
17.  At this battle, a fog allowed soldiers under St. Hilare to surprise the defenders of the Pratzen Heights. Later in this battle, forces under St. Hilare would, in conjunction with a division under Davout, seize control of Sokolnitz and Telnitz from the allied forces. Following the defeat in this battle, Austria was forced to sign the Treaty of Pressburg, withdrawing it from the Third Coalition. For 10 points, name this battle in the present-day Czech Republic, where Napoleon defeated forces under the Austrian Emperor Francis II and the Russian Emperor Alexander I. 

ANSWER: The Battle of Austerlitz (prompt on Battle of Three Emperors)

18.  One group of characters created by this author observe how the Judge Moses is at their window while they are next to Miss E. Muse. That play features characters like the poet Homer and begins with the William Tell Overture playing in Excelsior. Another play by this author, perhaps his most famous, sees Howie Newsome the milkman deliver milk to the central household. One play by this author focuses on the Antrobus family, who deal with different situations, like the coming of an ice age, in each act of the play. Another play sees George and Emily get married and that play is set at Grover's Corners. For 10 points, name this American playwright of The Skin of Our Teeth and Our Town.

ANSWER: Thornton Wilder
19.  One of these events ended after pictures of the Battle of the Overpass were published in newspapers. Walter Reuther led that one of these events and other people known for organizing these events include John L. Lewis. In 1981, Ronald Reagan fired a number of air traffic controllers to prevent one of these events, authority granted by the Taft-Hartley Act. Troops commanded by Nelson Miles were sent by Grover Cleveland to end one of these in the namesake Chicago suburb, and Alexander Berkman attempted to assassinate Henry Clay Frick during one. During that event, Pinkerton guards fired on employees of a company owned by Andrew Carnegie. For 10 points, identify this type of industrial action, examples of which include the Pullman and Homestead.
ANSWER: strikes (accept equivalents, accept strikes by auto workers (or equivalents) or strikes by Ford employees (or equivalents) until “John L. Lewis”)
20.  In Japanese myth, a pair of these creatures was the messengers of Hachiman, and after being created from flowers by Math and Gwydion, Bloddeuwed is transformed into one after betraying her husband. In Chinese myth, a group of these creatures is responsible for reuniting the cowherd and the weaver girl on the day of sevens, and in Irish mythology Dierdre has a dream about three of these animals drawing blood, foreshadowing death. In one story, after getting her tongue cut out by Tereus, Philomela and her sister Procne were turned into these creatures. Zeus transformed into one in order to kidnap Ganymede. For 10 points, name this type of creature, which also includes Garuda and Crow.

ANSWER: Birds (accept more specific answers)

BONUSES
1.  This rule was restated by JBS Haldane as stating that he’d lay down his life for two of his brothers or eight of his cousins. For 10 points each:
[10] Name this equation from evolutionary biology, which states that the reproductive cost is less than the coefficient of relatedness times the coefficient of relatedness.
ANSWER: Hamilton’s rule
[10] Hamilton’s rule is used to describe kin selection, which is a specific type of this behavior. Generally speaking, this behavior is where an animal puts itself in danger to save another.
ANSWER: Altruism
[10] This type of altruism, which is somewhat unique in humans, is where after an altruistic act, the recipient of the act is expected to act altruistically toward the person who saved him or her.
ANSWER: Reciprocal altruism
2.  The artist painted another version of this work in which the subjects are facing the other way, and Thomas Burke created a cheap reproduction of it. For 10 points each:

[10] Identify this painting, in which an imp sits on the chest of a woman lying down on a bed, as a ghastly horse head pokes out of a curtain.

ANSWER: The Nightmare
[10] The Nightmare was painted by this Swiss symbolist artist, who also painted some depictions of Lady MacBeth and Odysseus in Front of Scylla and Charybdis. 

ANSWER: Henry Fuseli
[10] This artist, who also depicted Odysseus in a few portraits, is a French Baroque artist who painted a bunch of landscapes, including Seaport Villa Medici and The Embarkation of the Queen of Sheba.

ANSWER: Claude Lorrain
3.  The third act begins with a conversation between Tribulation Wholesome and Aninas. For 10 points each,

[10] Identify this play whose title character Subtle engages in magical trickery like turning Mammon's goods into gold, while in Lovewit's house.

ANSWER: The Alchemist
[10] The Alchemist is a play by this Renaissance playwright, who also wrote Volpone and Bartholomew Fair.

ANSWER: Ben Jonson
[10] This other Ben Jonson play follows characters like Kno'well, who wishes to know his son well, as well as Squire Down-Right and his brother Well-Bred. It was followed up with a similarly titled play.

ANSWER: Every Man in his Humor
4.  The Missionary Party, led by Samuel Dole, engineered her abdication in 1893. She later lead the Oni pa’a movement to fight annexation. For 10 points each:
[10] Name this last monarch and only Queen of the Hawaiian Islands.
ANSWER: Liliuokalani (accept Lydia Kamakaeha)
[10] Liliuokalani ascended the throne after the death of this king, her brother, who signed the Reciprocity Treaty which granted privileged commercial rights and ceded Pearl Harbor to the United States.
ANSWER: David Kalakaua
[10] The Kingdom of Hawaii had five kings of this name. The first of them established the kingdom, protected non-combatants with the mamalahoe kanawi, and outlawed human sacrifice.
ANSWER: Kamehameha (accept KA-ME-HA-ME-HAA!!!) (actually no don’t!)
5.  At one point, its author examines the “inauthentic” feeling of death by discussing how it reveals itself as “certain” and “indefinite” in its section “The Problem of Death.” For 10 points each:
[10] Identify this tome that popularized the concept of dasein, by explaining its relation to the first title concept.
ANSWER: Being and Time or Sein und Zeit
[10] Being and Time is the masterpiece of this German philosopher, who also examined Friedrich Holderlin’s poetry in his lecture course on “The Ister.”
ANSWER: Martin Heidegger
[10] This student of Heidegger explored hermeneutics and influenced Paul Ricoeur with his masterpiece about the difficulties of objectivity, Truth and Method.
ANSWER: Hans Georg Gadamer
6.  Feshbach resonances can occur in these substances, whose wavefunction can be described by the Gross-Pitaevskii equation. For 10 points each:
[10] Name this dense phase of matter first created by Cornell and Wiemann in 1995, which consists of a large group of particles of spin 1 all occupying the ground state.
ANSWER: Bose-Einstein Condensate
[10] The BEC was created using a laser cooling trapped based on this effect, because the frequency of the light an atom in the trap sees increases when it moves towards the light. The transverse version of this effect was predicted by relativity.
ANSWER: Doppler effect
[10] The first BEC used atoms of this element, specifically its isotope 87.
ANSWER: Rubidium or Rb
7.  His barber once told a secret about him to the ground and the reeds where that secret was told are said to repeat it back whenever the wind rushes through them. For 10 points each:

[10] Who is this person, who once had his ears swapped with those of a donkey, but is better known for being the King of Phrygia who turned everything he touched into gold.

ANSWER: Midas
[10] Midas was granted the ability to turn everything he touched into gold after showing good hospitality to this companion of Dionysus.

ANSWER: Silenus
[10] While a child, Midas had grains of wheat placed between his lips by these creatures, the original form of the myrmidons. Psyche was assisted in sorting various grains by them as well.

ANSWER: Ants

8.  Prince Rupert’s decision to chase Henry Ireton’s troops allowed for one side in this battle to regroup and attack the center line. For 10 points each:

[10] Name this battle fought on June 14, 1645 between Royalist forces and another group, which saw Charles I run from the battlefield when his troops were defeated.

ANSWER: Battle of Naseby
[10] This group defeated the royalist forces at Naseby. It consisted of over 20,000 men and was organized and trained by Sir Thomas Fairfax.

ANSWER: New Model Army
[10] This man took control of the cavalry in the New Model Army shortly before the Battle of Naseby. He is better known for ruling England during the Commonwealth.

ANSWER: Oliver Cromwell
 
9.  This author wrote a novel Zbysko who rescues Danusia from the titular German military units in his The Teutonic Knights. For 10 points each:

[10] Identify this author who wrote The Deluge, With Fire and Sword and Fire in the Steppe.

ANSWER: Henryk Sienkiewicz
[10] Henryk Sienkiewicz is a novelist from this nation, which is home to the author Wislawa Szymborska and Witold Gombrowicz. Sienkiewicz's On the Field of Glory describes this nation's Jan Sobieski defending the capital Vienna.

ANSWER: Poland
[10] This other novel by Henryk Sienkiewicz is set in the Roman Empire and sees the death of Petronius Arbiter and Nero blaming the burning of Rome on Christians.

ANSWER: Quo Vadis
10.  An expansion of this equation that incorporates permeabilities and multiple ions can be used to find the resting membrane potential of a cell and is known as the Goldman equation. For 10 points each:
[10] Name this central equation of electrochemistry, which can be used to find the reduction potential of a voltaic cell at equilibrium and is named for a German.
ANSWER: Nernst equation
[10] These U-shaped glass tubes are commonly used to connect the two half-cells of a voltaic cell. If these didn’t exist, the charge difference between the half-cells would eventually stop current.
ANSWER: Salt bridge
[10] This procedure is used to deposit metal ions in a solution onto the surface of one electrode in a galvanic cell.
ANSWER: Electroplating
11.  This instrument is derived from the chalumeau. For 10 points each:
[10] Identify this instrument that Stravinsky wrote for in his Ebony Concerto, while John Adams wrote for this instrument in Gnarly Buttons. Carl Maria von Weber wrote two concerti for it as well.
ANSWER: Clarinet
[10] A clarinet Glissando begins this work written by Gershwin as he rode a train to Boston. Named by his brother Ira, it was originally entitled An Experiment in Modern Music.
ANSWER: Rhapsody in Blue
[10] This other Gershwin work was originally arranged for orchestra, celesta, saxophone, and automobile horns of taxis. It features a famous "Blues" pass, lage and concludes with "Postlude: Memories"
ANSWER: An American in Paris
12.  This movie begins when Llewellyn Moss finds a truck full of heroin from a Mexican drug deal gone bad. For 10 points each:

[10] Name this movie which sees the serial killer Anton Chigurh attempt to retrieve the drug money, in the process killing sheriff Tom Bell and hitman Carson Wells.

ANSWER: No Country for Old Men
[10] Anton Chigurh is played by this well-known Spanish actor, whose films in his original language include Jamon, jamon and Los lunes al sol. 
ANSWER: Javier Bardem
[10] Javier Bardem also had a part as the artist Juan Antonio Gonzalo in this film, in which he is attracted to both title women while retaining affection for his unstable ex-wife Maria Elena. 

ANSWER: Vicky Christina Barcelona
13.  It’s not The Tales of Hoffmann, but it has a guy falling for a mechanical doll with enamel eyes. For 10 points:
[10] Name this ballet, in which Swanilda disguises herself as the titular automaton and marries Franz. It introduced folk dances such as the mazurka to the ballet repertoire.
ANSWER: Coppélia
[10] Coppélia was composed by this man, who also created Sylvia and the opera Lakmé.
ANSWER: Léo Delibes
[10] Another ballet based on the works of E.T.A. Hoffmann is this Tchaikovsky work, which contains the Waltz of the Flowers and the Dance of the Sugarplum Fairy.
ANSWER: The Nutcracker
14.  For 10 points each, answer the following about a South American ruler:

[10] This second and final Brazilian emperor skillfully played his country’s liberal and conservative factions against one another to rule for most of his 1831 to 1889 reign with near absolute power.

ANSWER: Pedro II
[10] During Pedro’s reign, Brazil was involved in this war against the Paraguayan dictator Francisco Solano Lopez following his invasion of Mato Grasso. 

ANSWER: The War of the Triple Alliance
[10] This 1888 law, abolishing slavery in Brazil was promulgated by the regent Princess Isabel, while Pedro was travelling in Europe.

ANSWER: The Golden Law or Lex Aurea
15.  The speaker of this poem claims "I go among your body as among the world" and tells the addressee "you are a city by the light divided" and it mentions a "willow of crystal" in the beginning. For 10 points each,

[10] Identify this poem whose other images include "a pillar of fountain by the wind drawn over," and is based around the structure of a calendar.
ANSWER: The “Sunstone” or “Piedra del Sol”
[10] "The Sunstone" is a poem by this Mexican author, who has written about his home country in his essay "The Day of the Dead," found in his The Labyrinth of Solitude.

ANSWER: Octavio Paz
[10] Recurring images in "The Sunstone" include one of these trees of water.

ANSWER: Poplar
16.  This function on a three-dimensional continuously differentiable vector field is simply the sum of the derivative of each component with respect to its associated coordinate. For 10 points each:
[10] Name this vector function which tells you whether a particular part of a field is acting like a source or a sink at a given point. It is commonly symbolized del dot.
ANSWER: Divergence
[10] This theorem says that the volume integral of the divergence of a vector field is equal to the surface integral over that volume of the field dotted with the surface normal.
ANSWER: Gauss-Ostrogradsky theorem
[10] When composing two vector functions, its useful to know that the divergence of this function of F is equal to zero for all vector fields. Taking this function on the vector potential gives the magnetic field
ANSWER: Curl
17.  His brother Richard wrote The Kingdom of God In America and The Social Sources of Denominationalism. For 10 points each:

[10] Name this anti-liberal theologian, author of Children of Light and Children of Darkness as well as The Nature and Destiny of Man, who also influenced American foreign policy with his advocacy of “just war.”

ANSWER: Karl Reinhold Niebuhr
[10] Niebuhr has been attributed as being the author of this prayer, which implores god to give the speaker help in changing what can be changed, and wisdom to know what cannot be changed. It is used by Alcoholics Anonymous.

ANSWER: Serenity prayer

[10] If you have ever been to Bible school you probably know this prayer which contains the lines “Thy Kingdom come, thy will be done.” 
ANSWER: The Lord's prayer or Our Father or Paternoster
18.  According to the French document discussing its imposition, it came in three forms: seigniorial, servile and royal, but either way, lords ended up making money from their peasants. For 10 points each:

[10] Identify this French land tax that roughly corresponds to the English tallage. It was placed on peasants from the 1300s to the 1700s.

ANSWER: taille
[10] Repealed for a time, the taille was reintroduced by this finance minister under Louis XIV. The French economy benefited greatly from the mercantilist system pushed by this person.

ANSWER: Jean Baptiste Colbert
[10] Colbert directly pushed for the creation of the Royal Manufacture on the Glass of Mirrors, whose main purpose was to prevent the usage of imported Venetian Glass in the construction of this palace’s Hall of Mirrors.

ANSWER: Versailles
19.  This play is set in a bar full of languid drunks and prostitutes. For 10 points each:

[10] Name this play, which sees that cast of characters, including Joe Mott and “Captain” Lewis, await the arrival of Theodore Hickman, known to them as “Hickey”.

ANSWER: The Iceman Cometh
[10] The Iceman Cometh was written by this American playwright, who depicted the plight of the Tyrone family in Long Day's Journey Into Night.

ANSWER: Eugene O'Neill
[10]In The Iceman Cometh, this character is the proprietor of the bar.  He hasn't left the bar since his wife dies, but promises all the characters that on his birthday he'll go take a walk around the block.

ANSWER: Harry Hope
20.  Identify some things about the economics of trade, For 10 points each:

[10] This recent Nobel laureate developed New Trade Theory, which is useful in describing the network effects of tariffs and protectionism. He is the author of The Conscience of a Liberal.

ANSWER: Paul Krugman
[10] New Trade Theory relaxed this assumption, which is the idea that a change in input results in an exactly proportional change in output.

ANSWER: Constant returns to scale
[10] David Ricardo famously stated that trade is driven by this, which occurs when one party can produce a good at a lower opportunity cost than another. 

ANSWER: Comparative advantage
